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t (T test) 14.074t table = 042. 2 (14.074 

>042 .2 ) t 39 hitung   .N -1=  tailed) Sig. (2-

0.005 (0.005>0.000)  (Ho)  

(Ha) 

Stick Figure 

 

 

 

Stick Figure 

 

 Stick Figure 

  

Stick Figure   

 Stick Figure  

62.87 xy



 

    digilib.uinsby.ac.id  digilib.uinsby.ac.id  digilib.uinsby.ac.id  digilib.uinsby.ac.id  digilib.uinsby.ac.id  digilib.uinsby.ac.id  digilib.uinsby.ac.id   

  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

  

72 
 

 15.29 Stick Figure

 

62.87 

 

  Stick Figure

t(tt) (t0)

(tt)  % 5  :042.2  (t0) 

(tt)  

14.074  <042. 2(Ha) (Ho) 
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Stick Figure

 


